SRR i
S iy | iR
37.5" MAX. OVERALL Pt 59,,,/ Wl SleE @
POWERED BY|]W, o Fe s o B
N/ LN 1RiR BhAg%e ¢B 8T
guiddiiz 2XQN|us =, ac
v [} 3 T 299 88
® O, 18 §F FI8 HE
Ui Z b T 338 g
DOOR COMPONENTS MADE IN THE USA / My aini T zgh s
/ Nedec™ & SN; ER
Va T $4% u,
/ a g g8 8
£ 3ad Zk
8 § “‘E
L ; 3
£ i}
g 2 - Ko
Glazed Steel Door 2 3 :
= 5
2 ©° %
"NON-IMPACT" =k &g
o & &5
INSWING / OUTSWING t  Z x
T =i
< << o=
: & °© S 58
< = S U
5 © Sola
X 0z - 23
= Z 5 83
& g S b P&
EVALUATED FOR USE IN THE STATE OF TEXAS ~ x g 0@
The Glazed Steel Door system described herein complies with the 2018 *
infernational Residential Code ({IRC), Sections R301 & Ré09 and the 2018 g g P
Infernational Building Code {IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 /
subject to the following conditions: // a8 o
/ «l3)8
1. Anchors shall be as listed and spaced as shown in the details. Anchor / >lolw
embedment to base material shall be beyond wall dressing or stucco. 9 % ‘é
2. When used in areas requiring wind-bome debris profection this product is LR & ln
required to be protected with an impact resistant covering that complies A ; 9 Cz)
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. N I
3. Allowable design pressure requirements must be equal to or less than the Lg NE E
design pressure rating shown in the design pressure chart, sheet 1 of this B RlEl |
drawing. i e
4. Conditions not covered by this drawing are subject to further engineering = (8
© analysis. ‘ ' a5|8
<C Y
Sl I
NN
TABLE OF CONTENTS Q| 19
S NS
SHEET# DESCRIPTION kit B el B
] Typical elevations, design pressures & general notes o - — - S : _ T %
2 Door panel details (lip lite insert glazing) .. L POSIIVE WEGAHVE . oaTe: 12/10/13
3 Horizontal cross sections ' R R scAE NTS
4 Verfical cross sections INSWING +30.0 -35.0 —
- DWG. BY: JK
5 Frame anchoring X =
OUTSWING | +30.0 | -30.0 o o L
TX—4420
SHEET _1 oF 5

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-585 Masonite Steel\C - Drawings\REV 2018 IBO\TX-4419-20.dwg, TX-4420

© 2013 R.W. BUILDING CONSULTANTS ING.



Leanonny .
S5 Bi en
: % o'.": - : e hry
o H 2 - < 0
STILE (LAMINATED woScT)lg 53 iS5 g2 g &8
(LAMINATED WOOD] 25 INTERIOR TOP RAIL sidio Sy g¢B g7
N e (WooD) T \F=— oy PNig Yy GBS Sa
———— 0 NS <~ — Wi ' i3 §2 532 3z
L l ' L X i LYl
U e — S Ei ’e,;‘gg,-.. ig 57 558 pe
; — — — — ] S | =N — Sa
R - §1 S 3 & hll{; *iT: %o Za® EE
" p——— S | 5 R & 8%, £g
- { S 2 S 3 93% ul
J W (e ‘ 24 Ga. STEEL SKIN E £%e Ob
1t _\ a =g ¢© =]
118 —L——J EXTERIOR 118" £ aef Ik
PARTICLE BOARD 2 ,§ “’g
LOCK BLOCK P g £
(12" HIGH) 3 ©
sl
/"1 "\ HORIZONTAL CROSS SECTION
&Y, _
n=
=N
<<
L3
<t b~
S |y ok
35.75" MAX. # S |2 %g
PANEL WIDTH INTERIOR EXTERIOR A e
y/i < O
2] MAX . o Q (@) —
5.LO. WoTH #6X 1-1/2" PH SM$ : =
o <
{ 2 } — GLASS BITE 1/2" o &
INTERIOR 2 12k
N ———1/2" NOMINAL GLASS THK. al
Sl
J L0 !! /8" TEMPERED GLASS 39S
/ S #_— AR SPACE 2l :
3 = =N
R 1/8" TEMPERED GLASS SRSl o
o¢ — 3 Wwiolal 1o
O E h 2 L& o ~— —
QU %0 1) STEEL SPACER 5IRIR 2
g 3% s X 2 FOAM CORE —~__ | tlol@l ¥
28 %o EXTERIOR QSO SEALANT (POLYURETHANE) 2IE
— I
& 4 _ LOW TACK SEALANT . “13|9
SEE o : =] 85|18
HARDWARE | | 7 C) GLAZING DETAIL B : o[ o
TABLE / Lip Lite Insert Glazing BOTTOM RAIL BN NN
(WOOD COMP.) ~ m g RIS
SHEE
b 175" ] oaTE: 12/10/13
scale:  N.T.S.
MASONITE DWG. BY: JK
Insert glazed MANUFACTURER) .. Mot cie 8. LFS
(Steel) LATCH: KWIKSET SIGNATURE SERIES (991) {2\ VERTICAL CROSS SECTION DRAWING NO:
KWIKSET | DEADBOLT: KWIKSET SIGNATURE SERIES (980/985) 2 TX—4420
SHEET _2 oF _ 5

R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-585 Masonite Steel\C - Drawings\REV 2018 IBC\TX-4419-20.dwg, 2.8

© 2013 R.W. BUILDING CONBULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-585 Masonite Stee\C - Drawings\REV 2018 IBC\TX-4419-20.dwg, 3.8

{ 2\ oY N
3/@ 2X FRAMING 2X FRAMING Serint 4 *d
— ] (G >= 0.42) e (G >= 0‘42) : %.....o.: E :.in,’.. ‘.’? ‘:..é g o & ~
{ ~m EACER E TN EL 8 U8
™ o 5 g : £ 10 v
H [ e \ ‘." TN a”li/:: ':{_UJ)::S N 3|4 g " QT
EXT. SHEATHING |t I i hgioic ¢ ot 20 gl
/ . RN RN i/ I iﬁ‘%‘é L AN
. {H i DRYWALL \ A i DRYWALL [ 181 &y [sF ELg o8
/ il 1 L 1}22\16; ....... ::E ...Q\ON - a ‘>J‘lf_§ é’g
1 RS R ~ Zz
118 |- #m0x21/2°PrH bl | #10x3PRH R s 88388
Lt P © . Q
i | WOODSCREW , -~ WOOD SCREW 3T 23% s,
H . f SR -1 o O
i 174" MAX. 1/4" MAX. 8 26§ g
SHIM SPACE e SHIM SPACE alli s AL™ 28
2Ze : D
SHE £ gé
X | = ; S F
— o
TN o 2000000 8
3/ H v DOOR PANEL ~_ T DOOR PANEL
HEAD: PINE N HEAD: "FusionFrame" (1-PIECE)
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP 2
(QEBD/PE 650) (QEBD/PE 450) < g =
o .. vy
A\ S P IES)
// EXTERIOR INTERIOR EXTERIOR N INTERIOR S |8 &,
i OWw
| / g Te
/
(2" VERTICAL CROSS SECTION /"3 \ VERTICAL CROSS SECTION S b
w Outswing shown - inswing 3/ Outswing shown - inswing 9 S
> q also approved \_/ 1 d o —
CORNER PADS also approve 2 &
) gz
(3N (N2 015 S e
\4 N4/ 4 4/ 1/4' MAX. | = C'SINK 174" MAX. wl
EXT.SHEATHNG ~ SHIMSPACE (TYP.) SHIM SPACE EXT. SHEATHING s1S|s
\ JAMB: "FusionFrame" / 2o
y . " 1 OR 2-PIECE S|E|L
0.7 —1—-—»’ 0.75 —M I«——f— 0.7 \ JAMB: PINE ( \ ) & b@
P—— (T e —— / . e OB |
S===== #10X 2-1/2" PFH #10X 2-1/2" PFH ﬁ e —— ol 8l 16
COMPOSITE 2X FRAMING | WOOD SCREW WOOD SCREW 2elg 2
AW SNAP-ON (G>=042) 2X FRAMING Lol |2
CAP ENDURA WEATHERSTRIP  ENDURA WEATHERSTRIP (G 5= 0.42) sP°|E
AN / (QEBD/PE 650) (QEBD/PE 650) / KR
SN
2 ' ' EXTERIOR ' 35/
i BUEROR Pl
= 2l @
O \ NENE
T R g i g A g AR i
/ = v N = N IS
0 R = ﬁo-
0] e ~ [-|g
oaTE: 12/10/13
“"] 1.25" l“’_> 105" | " DRYWALL/ / \ INTERIOR \ DRYWALL ) £19/
: ) 125 |- #EXT'PFHSMS ——— st N.T.S.
#8 X 2-1/2" PFH WOOD SCREW e K
JAMB / HEAD JAMB / HEAD JAMB £ HINGE LATCH #8X 2-1/2" PFH ow o LFS
PINE "FusionFrame" "FusionFrame" #8 X 3/4" PFH SMS : STRIKE PLATE WOOD SCREW BRAWING W0
(1-PIECE) (2-PIECE) / 1"\ HORIZONTAL CROSS SECTION Y4420

\y Inswing shown - Outswing also approved

SHEET 3 oF 5

© zo13 R.W. BUILDING CONSULTANTS ING.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-585 Masonite Stee\C - Drawings\REV 2018 IBC\TX-4419-20.dwg, 4.8

A\ Y
INTERIOR EXTERIOR
DOOR PANEL
e
ENDURA
DOOR SWEEP
/1? / (DBK-R)
15X2)3

\\ ”&\-\,\x\.}:\u
INTERIOR EXTERIOR Sxrint
RS DOOR PANEL S i3]
WEATHERSTRIP _ _ EACERES
DOOR PANEL (QEBD/PE 650).  INTERIOR EXTERIOR g&, iol
ENDURA ENDURA A — 2, H
DOOR SWEEP WEATHERSTRIP,  INTERIOR EXTERIOR % oL PNiL
(DBK-ZAC) m@@ (QEBD/PE 650 W 18
(‘ é? o, $ =z
QS i Z
4)5 N U xini
D DOOR TS
= PANEL

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION

w Inswing Adjustable Threshold

! 4.56" !

INSWING ADJUSTABLE THRESHOLD
ZAIL4565

! : 4.56" ; !

INSWING ARTICULATING THRESHOLD

LACL4565

#10 X 2.5 PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

m VERTICAL CROSS SECTION
w Outswing Bump Threshold

#10 X 2.5' PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/3 VERTICAL CROSS SECTION
w Outswing Bump Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 2\ VERTICAL CROSS SECTION
W Inswing Arficulating Threshold

A
: i i 1‘; | |
4,56 1 I 4.56" 1 I 4.56" 1 ! 4.56" =1
2 INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD @ INSWING ADJUSTABLE THRESHOLD
ZAI4565FN LAILAA4565 LAIAA4565FN IAI4565RDS

4.56" - !
INSWING ARTICULATING THRESHOLD

4.56" !

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123
813.659.9197

P.O. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

[%2]

=z

o

S

vy

[75]

= 0

> s 9D

Q 5 9O

=z o &

] = ©

o 2

S

. =

—
o %5
S

8 |
& 3
o Q.

2 12

~3 i~

UPDATE TO 2018 IBC/IRC CODE

INSWING ARTICULATING THRESHOLD 9
IACLAA4565

10 INSWING ARTICULATING THRESHOLD

INSWING ARTICULATING THRESHOLD 8
ZAC4565FN

ZACAA4565FN ZAC4565RDS

2N A
S -

4.56" ! ! 456" !

r%“\i@

1
AR B

E

! 4.56" ! !

! 4.56"
1 OUTSWING THRESHOLD 12 OQUTSWING THRESHOLD 13 OUTSWING THRESHOLD 14 OUTSWING THRESHOLD
LOBL4565 IOB4565FN ZOBA565RDS FOB4566

11/01/16|ADDED THRESHOLDS/REVISE D.P.

10/28/19{ADD "FusionFrame” OPTION &

2
1

REVISIONS

o
<
s
o
z
3

DATE: 12/10/'1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX~4420

SHEET 4 oF 5

@ 2013 R.W, BUILDING CONSULTANTS ING.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI.- DR-585 Masonite SteeNC - Drawings\REV 2018 IBC\TX-4419-20.dwg, 5.8

TOP OF

6.45" FROM
DOOR PANEL

S—

58.69"

84.81"

JAMB NOTES:

1

ﬁ.I
|
Cace

by

32.56" ——

-

|
g I

HINGE JAMB

THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB.
THE Fusionframe” 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY.

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations af the corners may be adjusted to maintain the min.
edge distance to mortar joinfs.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

SEE STRIKE _/ .

49.69" FROM
TOP
OF DOOR PANEL

DETAIL

STRIKE JAMB

\

#10 X 3" PFH WS =]

#8 X 2-1/2" PFH WS —]

¢

-»
3w
:

:

H

-
vereve

SCHMID

conr
senqrereraserss
)
)

vl £
seue

104123

= DEADBOLT SECURITY
= STRIKE PLATE

LATCH STRIKE
PLATE

STRIKE PLATE DETAIL

2X FRAMING HEAD ANCHORS:
(BY OTHERS) #10 X 2-1/2" WOOD SCREW (PINE JAMB)
#10 X 3" WOOD SCREW {1-PIECE JAMB)
6"
" [P)
SEE HINGE
DETAIL 1 T
£
}" "I JAMB ANCHORS:
N #10 X 2-1/2 WOOD SCREW (PINE/2-PIECE JAMB)
#10 X 3' WOOD SCREW {1-PIECE JAMB])
SEE HINGE
DETAIL 2
>‘< Ei:‘
<z
=5
8o
I I
2 SILL ANCHORS:
#10 X 2-1/2" PFH WOOD SCREW
1/4" X 2-3/4"ELCO OR
FLOOR SUBSTRATE MATERIAL FRAME ANCHORING ITW CONCRETE SCREW
CONCRETE [MIN. 3000 PSI) X
WOOD (G >= 0.42)
- #8 X 2-1/2" PEH WS
| #8X1"PFH WS <=8l 3

W . .
TAPCON® | 14 1-3/4" 2-1/ 3
ELCO L 1] " L
uLrRAcON®|  1/4 13/ ! 3

= #8 X 3/4" PFH WS
| 4" X 4"HINGE

HINGE DETAIL 1

IS

#8 X 1" PFH wsé

AR

P #8 X 2-1/2" PFH WS$

= #8 X 3/4" PFH WS
™ 4" X 4" HINGE

HINGE DETAIL 2

ui
e
S »
o oo
£ 10 {5 n
E @ ©
] .8 Z-
N Om "T
. (): z ~ & f.
™ E‘ u
- [+]
- Lo :i=“=
°§ 9% 22
0 29 8§58
£ - EEWN X
> dge Bk
A>m QE
- -
< 88" g8
&* Own e BN
] o
k-] %52 e
£ 5%¢ 95§
2 25 o
e o0& %H
o 1] o 06
= o
8
5 §§
E g o
3 -
O
o
o
=
S
& I
> NS
o =
= o <
i s
o
I
<
5 | ™
3 o
—
o
& 2
o a
%8} U)>.
Lim
W
Sl
g0|o
ol
Blg|2
=NG
0O
oIl |@©
¥ 008 (23
[
] =
INER=
N
SiE|g| |*
B gQ
g|a
o
al>1a
| i<
o w
N INw
8 |5l%
S| S8
~lo
N z
oate: 12/10/13
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4420

SHEET _ 5 oF 5

@:D 2013 R.W. BUILDING CONSULTANTS ING.



